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                                                               Svolgimento  
 
1)     a)       ma = F cos 25°            a = (F cos25°)/m       a = 2.18 m/sec2  
 
        b)       F sin25° = mg              F = mg/sin 25°          F = 116 N 
     
        c)       Fx = 116 cos 25°         ax =  Fx/m                    ax = 21 m/sec2 

 

 

 

 

2)      a)       mgh1 = mgh2 + (1/2)mv2       v = [2g(h1-h2) ]
1/2          v =  44.2 m/s 

 
          b)     mgh1  - mgh2   =  Lattr           con  Lattr = µd L mg cos 30°      µd = (h1-h2) /cos 30° L        
 
                   µd = 0.036 
 
 
 
 
3)   a)     Pi

x = 0      Pf x = P1x + P2x + P3x                                     P
i
y = 0            P

f y = P1y + P2y + P3y 

 

                                          P1x = m 30                                              P1y = 0 
                         P2x =  0                                                                                    P2y = m 30 
                         P3x = 3m  v3x                                                                       P3y = 3m  v3y     
  
               30 m + 3m v3x    = 0                       30 m + 3m v3y    = 0            
                  v3x    = -10 m/s                               v3y    = -10 m/s              Vf

3 =     ( v3x  +  v3y  )  = 14.1 m/s 
 
       b)            tg θ = vy/vx   = 1           θ =  45°                  θ31 =  135°                     θ32 =  135°           
 
 
 
4)    a)        θ = (1/2) α t2       da cui   α = 2θ/t2                

 

                         da cui   τ = FR = I α          F =  Ι α /R =  I 2θ/R t2                θ = 1.57 rad , R = 2.4 m , t = 30 s 
 
               F = 126 N 
 
         b)    ω = α t            ω = 2θ/t       =  0.9 rad/s 
                 
 
 5)  Ii = ½ M R2       If = = ½ M R2 + m R2        
 
     Li = ω i Ii          Lf = ωf If             Li = Lf                    ωf  =   ω i Ii /If                ωf  =   3.4 rad/s   


